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Time : 3Hrs. Sem - VI/ Rural   
Micro Irrigation

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Write short notes on the following :

(a) Emitters

(b) End or flush caps

2 1616605A

1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

Sprinkler irrigation is adopted in :

(a) Uneven terrain

(b) Extreme drought and cold condition

(c) Erodable soil

(d) All of the above

Drip irrigation is called :

(a) Medium irrigation

(b) Micro irrigation

(c) Trickle irrigation

(d) Both (b) & (c)
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10. Describe sprinkler method of irrigation explaining 

its component parts.

Give a comparison of drip irrigation and sprinkler 

irrigation.

Write short notes on the following :

(a) Semi portable sprinkler system

(b) PVC pipes and poly tubings.

(iii)

(iv)

(iii)

(ii)

(a) Gravitational water

(b) Hygroscopic water

(c) Capillary water

(d) None of the above

from:

(a) Upper portion

(b) Middle portion

(c) Lower portion of the root zone

(d) None of the above

1616605A
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following data:

Field capacity of soil = 28%

Permanent wilting point = 13% 

Reading soil moisture = 80% of available moisture

Soil density = 1.3 gm/cc

Effective depth of root zone = 70 cm

Daily consumtion of water for crop = 12 cm.

P.T.O
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(iv)

(v)

(v)

(vi)

(a) Furrow irrigation

(b) Check basin irrigation

(c) Sprinkler irrigation

(d) Border method of irrigation

(a) A characteristic of a plant

(b) A soil characteristic

(c) A soil characteristic modified by crop

(d) Dependent on soil water plant fertilizer 

      interaction
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(vii)

(vii)

(vi)

Conjunctive use of water in a basin means:
(a) Combined use of water for irrigation and 
      for hydro power generation
(b) Combined use of surface and ground 
      water resources
(c) Use of irrigation water for both Rabi and 
      Kharif crop
(d) Use of irrigation water by a co-operative 
      of farmers.

1616605A
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What are factors which affect consumptive use of 

water ? Explain.

procedure for sprinkler irrigation.

sprinkler system.

components parts of drip irrigation.

8.

OR
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(viii)

(viii)

(ix)

Consumptive use in:

(a) Water used up in plant metabolism 

(b) Sum of evapotranspiration and amount 

      used up in plant metabolism.

(c) Sum of evapotranspiration and infiltration

     losses

(d) Combined use of surface and ground 

     water resources

equal to depth of water:

(a) Transpired

(b) Evaporated

(c) Transpired and evaporated

(d) Used in transpiration, evaporation and 

      evaporated from adjacent soil.

NT601215
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Explain capillary water and gravity water.

NT6012

                 GROUP  - C

6 x 5 = 30
Answer all Five Questions.

Compare between micro irrigation and surface 

irrigation.
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For the conservation of water up to 50 percent, 
the best irrigation method is:
(a) Drip
(b) Sprinkler
(c) Furrow
(d) Basin

application efficiency of ................ percent.
(a) 60
(b) 70
(c) 80
(d) 90

(x)

(x)

(xi)

(ix)

1616605A
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5.

Explain fertilizer application .

What is conjuctive use of water? Explain.

Define drip irrigation and where it is suitable ?

OR

OR

4

4

4.
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Limited metting of soil surface to consence 
water is possible with ....................irrigation 
method.
(a) Basin
(b) Furrow
(c) Drip
(d) Sprinkler

evaporation losses is:
(a) Basin
(b) Furrow
(c) Drip
(d) Sprinkler

(xiii)

(xi)

(xii)

(xii)

NT601213
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What is micro irrigation? Explain.

Write necessity of micro irrigation.

Explain application of efficiency of irrigation and 

consumptive use.

1616605A

4

4

2.

3.
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Answer all Five Questions.
4 x 5 = 20
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What method is more lurificial with respect 

to drip irrigation for low head.

(a) Sprinkler

(b) Sub Surface

(c) Suction

(d) None of these

(a) Surface irrigation

(b) Lift irrigation

(c) Sprinkler irrigation

(d) Furrow irrigation

(xiii)

(xiv)

(xiv)

1616605A

(xv)

P.T.O

NT6012121616605A

(xix)

(xx)

(xx)

(a) Salts are removed from the soil

(b) Nutrients are added to the soil

(c) Weeds are removed from the soil

(d) Fertiliser is added to the soil
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efficiency is:

(a) 45 - 50%

(b) 55 - 60%

(c) 60 -65%

(d) 70 -75%

The quantity of water utilised for evaporation

and transpiration during crop growth is called.

(a) Field capacity

(b) consumptive use

(c) Wilting point

(d) Permanent wilting point

(xvi)

(xvi)

(xvii)

(xv)

NT601211

is available from.
(a) Natural source
(b) Artificial source
(c) Both (a) and (b)
(d) None of these

(a) Hydrometer
(b) Hyetometer
(c) Hygrometer
(d) None of these

1616605A

(xvii)

(xviii)

(xviii)

(xix)
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